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F) BYT8 £/x s I H L inhr & =i
G) BYT9 H/nfiiiE 5 B dh 7 BRAL;
H) BYT10 %?%Lkﬁfgﬁfi
D BYT11 SRR Fii3E & BEARAL;

25, ¥ & PIP/POP = (18)

BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT1 | BYT1 | BYT12

0 1 2 3 4 5 6 7 8 9 0 1
05 | 01 18 XX 00 00 00 00 00 00 00 00 ChkSu
m
Yl 1) BYT2=18, N2 & AN IRIEIZ 13 4515 I8 i 2
BYT2=98, 322 B LU S % fir & JF 78 A LR A J5 g iR 13 MNP H a2

2) BYT3=00, & PIP & 1;
BYT3=01, & PIP £ 2;
BYT3=02, & PIP £ 3;

3) BYT4 2| BYT11 JCsEbrm L, BN O;

26. W ELEVIHIREARBEX (19)

BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT | BYT1 | BYT1 | BYT12

0 1 2 3 4 5 6 7 8 9 0 1
05 | 01 19 XX 00 00 00 00 00 00 00 00 ChkSu
m
Yl 1) BYT2=19, N2 AN IRIEIZ 13 4515 I8 fr &
BYT2=99, W 324254 AR 1% & I 58 MU BLHR 1R Jo KR 1112 13 A7 47 IO Bodf i &

2) BYT3=00, ¥ & T4%)#;
BYT3=01, WEKXA%H 0.5s;
BYT3=02, WEKXA%H 1.0s;
BYT3=03, WEIKXAZKH 1.5s;

3) BYT4 2| BYT11 JCsbrm X, BN O;

M. BRpEBt

- BRI E S E COM 15

BEEREE R &N &SRS (@SR AR Info ?“EL&EX?Z%‘L %% IR Setup Fbl % B D,
MWk COM MR T IER (K 1 KRR ERE G L E & B AR

B O 4 FE AL B A S ATIRES

A E I A% FEACHC B A 4IRS, DA T 4% CLPAT 58 O A R 38 B 1R i 4
BRI IER R B &, AT S RARE, Hrd A IR IR BRI, R BYT2 s 1,
B 2R T

a b~ W wWwN =
P



